Написать процедуру на Turbo Pascal, размещающую в памяти компьютера данное двоичное дерево: 
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Процедура для примера:

Procedure NewTree;

  begin

    dp:=new(PTree);

    rt:=dp;

    dp^.data:=A[1];

    dp^.left:=new(PTree);

    dp^.right:=nil;

    dp:=dp^.left;

    dp^.data:=A[2];

    dp^.right:=new(PTree);

    dp^.left:=nil;

    dp:=dp^.right;

    dp^.data:=A[3];

    tmp:=dp;

    dp^.left:=new(PTree);

    dp:=dp^.left;

    dp^.left:=nil;

    dp^.right:=nil;

    dp^.data:=A[4];

    dp:=tmp;

    dp^.right:=new(PTree);

    dp:=dp^.right;

    dp^.data:=A[5];

    dp^.left:=new(PTree);

    dp^.right:=nil;

    dp:=dp^.left;

    dp^.data:=A[6];

    dp^.left:=nil;

    dp^.right:=nil;

    dp:=rt;

    TExist:=true;

end;

